Chapter 18: Motion
Completion
Complete each statement.

1.
the rate of change of velocity ____________________

2.
the distance traveled divided by the time it takes to travel that specific distance ____________________

3.
speed plus direction ____________________

4.
speed of an object at one instant of time ____________________
Short Answer
The distance-time graph below describes the motion of an object. Use it to answer the following questions.
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5.
Over which interval is the speed greatest?

6.
Over which intervals(s) is the speed zero?

7.
What is the average velocity in m/s from A to B?

8.
The velocity of an object goes from 4 m/s to 12 m/s in 4 s. What is its acceleration?
Matching
Match the terms with the correct phrase below.

	a.
	kg m/s
	d.
	m/s

	b.
	m/s2
	e.
	m

	c.
	kg


____
9.
distance
____
10.
speed
____
11.
acceleration
____
12.
mass
Short Answer
Study the graphs below and answer the following questions.
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13.
In which graph(s) is the velocity constant?

.

14.
In which graph(s) is the velocity zero?

.

15.
In which graph(s) does the object have a positive acceleration?

.

16.
In which graph(s) does the object have a negative acceleration?

.

17.
Describe the motion of a car with acceleration of –5 m/s2.

.

18.
If an object moves at constant speed, can we assume that is not accelerating? Explain.

.

19.
A car travels 10 km north, 5 km east, 15 km south, then 5 km north.

	a.
	What is the distance it travels?



	b.
	What is its displacement?





20.
You flew in an airplane from Denver to San Francisco, and your friend rode in a car for the same trip. For which one of you would the displacement most nearly equal the distance? Explain.
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Answer Section
COMPLETION

1.
ANS:
acceleration
PTS:
1

2.
ANS:
average speed
PTS:
1

3.
ANS:
velocity
PTS:
1

4.
ANS:
instantaneous speed
PTS:
1
SHORT ANSWER

5.
ANS:


AB
PTS:
1

6.
ANS:


CD
PTS:
1

7.
ANS:


4 m/3 s = 1.3 m/s
PTS:
1

8.
ANS:


a = (vf – vj) = (12 m/s – 4 m/s)/4 s = 2 m/s2
PTS:
1
MATCHING

9.
ANS:
E
PTS:
1

10.
ANS:
D
PTS:
1

11.
ANS:
B
PTS:
1

12.
ANS:
C
PTS:
1
ESSAY

13.
ANS:


A, B, C, E
PTS:
1

14.
ANS:


b
PTS:
1

15.
ANS:


d
PTS:
1

16.
ANS:


f
PTS:
1

17.
ANS:


The car is slowing down 5 m/s for every second it travels.
PTS:
1

18.
ANS:


No, it might be changing direction.
PTS:
1

19.
ANS:


	a.
	10 km + 5 km + 15 km + 5 km = 35 km

	b.
	5 km east


PTS:
1

20.
ANS:


Your distance would most nearly equal your displacement because you would come closer to moving in a straight line. Your friend would probably go around many curves, so her distance would be a great deal more than her displacement.
PTS:
1

